RRH

A

-

EROR (B FRA

l

EREEE MH-C MH-C2 Vert-X 37E - 24V / 0.1 - 10V

BESH R

R A ESEEe 0...360 0... 360 Rl L

MM LME (D) % of meas. range  +0.3 +0.3 BRI

WYL MEE@EDEREBER @ 360°) % of meas. range 0.5 205 Al AL

& KW ° 0.1 0.1 BHRABRER

DPR bit 12 14

BAATEEMY ° 0.1 0.1 FREREN

PR R RRR KHz ®) @ B Z % P68

BB SRR kHz 1.66 0.5 EEAHERIT

PO R G R s (800) (800) SERMUN BT A

R R S 1 R bs 4600 2500 REsD

BHESBARERY ppmI°K 100 100 e r

MTTFd/MTBF years 185/ 185 147 1 147 e o o g

(e e E VDC 108 ...35 11..35 (RE, BT, RL R E)
: & EREESAETENS S H#

R SRR (typ.) PR mA (19) 20) gty

T AR BRIAFE(typ.) BEER mA 14 15

4 B /N BB FR f Bk kOhm 10 10 R4S MH-C

Ll kS SRS nF 100 100 PR 12bit

R AR M R R yes yes EETR

Hh e B S E Wires (3x) Wires (3x) LEMH-C2 EEE

BRSSEEBE mm?2 0.56 (AWG20) 0.56 (AWG20)

RS ERE Cable 3pole Cable 3pole = miER MH-C2

BB YR EE mm?2 0.56 (AWG20) 0.56 (AWG20) PR 14bit

TR yes no REIR, EEFEMNAE TR

W B EETR Wires (6x) /R 4R (T %)

BREAEBE TR mm?2 0.56 (AWG20)

REOBESEETR Cable 6pole

BRGEEBE TR mm?2 0.25 (AWG24)

S

M ATE 360 (continuous) 360 (continuous)

B3 Z 4 IP68 IP68

BNEW movements no limitation no limitation

THENEEEE °C -40 ... +85 -40 ... +85

IEC 68-2-6 #& 3l (Amax = 0.75mm, f=5 ... 2000 Hz) ] 50 50

IEC 68-2-27) i g 200 200

(Sa=E a3

EN 55022 class B, Emission radiated (30... 230 MHz) dB(uV/m) max. 30 max. 30

EN 55022 class B, Emission radiated (230...1000MHz) dB(uV/m) max. 37 max. 37

EN 61000-4-2, ESD (contact discharge / air discharge) kv 4/ +8 4/ +8

EN 61000-4-3, Immission HF radiated (80... 1000 MHz) Vim 30 30

EN 61000-4-4, Burst (on all lines) kv +1 +1

EN 61000-4-5, Surge (lines to ground) kV +1 +1

EN 61000-4-6, Immission HF conducted (0.15...80MHz) Vemk 10 10

EN 61000-4-8, Immission magnetic field (50Hz) A/m 30 30

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20 20

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) kV 1 1

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  48T.:173 1638 6953  Ryh:www.tifu-auto.com  HF:info@imcortech.cn



RRBIEEAR (L) FRAF

WY

1E 6 % BE CWHR A1

IE B B CCWH 2

U, E@#E CWAES

TUR, EE#E CCWA 4

TR, RXESHE TS

IE 4B CW 5138 FF X i AT e A
EEBE CCW T 1B FF X i i 7T 5B
IEEBEEE CW #5288 IF % 4 i A& C
IEMBE CCW W28 FF 55 4l AT 5D
BERE 75 [0 IR E AIEE

BAREE /HE

3 Ak 44 4pole

5 ¥R A 448 3pole

7 A% 448 5pole / 6pole
9 Tk SR A4S IR L4

BRERE/ &E

4 1R B B4 3pole

6 Ai% B 8B4 6pole

9 Ik 45K B AS TR LK

FRMBERE 5 @ AR E A/ %EF
QR F e 5 18 AR E LG
IR R & RUBE#% 75 16 AT R E A% H SHKE
45 F2Vert-X EasyAdapta i&P 01 &% 10cm
03 A 30cm
05 #5 A 50cm
HWHES 99 Tk HHKE
0,1vDC ... 10VDC Standard 1
BRKE
02 ¥R 4 1.0m
" 06 A% 3.0m
e s E 10 Ai% 5.0m
24VDC Standard 1 00 Wik BHKE
Vert X 3 7 E 4 7 3 6 1 1 1 0 5
BRKA
36IR B SE A360°
xxA]1%03 to 35; Declaration in 10° steps
QORI HRB KA
ERBRE
7 MH-C
8 MH-C2
LA 45 M AR AR
37E1 T3k AARK %K size 13 ; BMERTHGtype 1
37E2 AL A R R $size 13 ; WA IT L #Gtype 2
37E4 WA AR B &Esize 13 ; B HITHLA type 4
37E9 Wik %R BB RTIGE
MH C MH C2
1T I B M 04T WL A X X
T HIAE X X
iT #l e 88/ 4% X X
TR AR = SRR R X X
FFRIIBETTL (max. 2) X X
HEIRIS M 2 X
R EBESE A STE30°to 360° (BWI) X X
BREATRE (R X
BEARMNALQITIRE FNLE) X
fiE¥E 5 mCW/CCW AR E / Al fmi2 (A& L RER ) X
RE|KRANRE/ AIRE (FNK LR KA X

H35:021-5419 1392 4f1:173 1638 6953

Wk - www.tifu-auto.com  Hf£f:info@imcortech.cn

i

-
=
Ic

Vert-X 37E - 24V /0.1 - 10V
g Kas

xR
FEX—MRF(&K. 127), €
B M BT B Rk o

ik (REEFER)

CONIELEC

A company of the Siedle-Group



|

REBEEAR (L) FRAF

B s imiallale

~

';" -
s
| ]
Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx
B4 (incl.)
Finbaumass 7 tdz 1x BERF
| ) o - o 2x TR B IR 4 M5x12
SW13 working position 16 R §
M5 = THEAME(Z) M BERTHG
- 2 ; 3 B R AV
l — - L SEREEER
S ] |
e T Yau r
Lo [ | @
-l o 1=t o
S| o % | s =
| 7 SHE § & \
-, g |
™M HURIN
j 4 H
||| o5Tiefe 5 12
# 26 19,4
Vert-X 37E4 xxx xxx 4xx
Vert-X 37E4 xxx XXX 6xx
B2 4 (incl.)
‘ ¥ ey IxBEEXRF
EmEaumaSS T - 2x #8224 M5 1 2
SW 13 waor lﬁg pOSl 10N WﬂB ) B
-t et THEME(Z) M BAERITIG
21,3 B K R4
P I - Bl = SERERER
= -
T - HA 15
o o “CHIF -~
<l T b —
& o] [oF] o ’
- | T HiuEIrt 1 o«
- 3 =0 s =
S ™ _STHA \
NI R
58 RS
] ™ BUNIE
=
v +H
g5 Tiefe b 12
826 24
A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Myk:www.tifu-auto.com  H4:info@imcortech.cn



|

RERBEFAR (LB FRAF

-

f- x_m

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx
B #(incl.)
Finbaumass 7 iz IXBERF
| ; . - - 2x T FE R L & 1R 4 M5x12
W1 working position 16
e -t T E(Z) M BT
» 4 BOA R4
| R e BEREER
| — 1 i
s “CHI 77
i D] (]
o7 | 1 =4 =y
_
{ig el
M CHE 1
= BURIN 1
. | nel
= 4]
|| @5 Tiefe 5 172 168
g 26 _ I8
Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx xxx 6xx
B2 4 (incl.)
. 1Ix BERF
w10 Einbaumass L o 5 1 AL 2 R M5 12
R LR working position [ 1 g
. TAELE(Z) 1 BEERITHLG
nay B K S i
° =T o BEREES
ﬁ\? e —— \ 7__|::_:: C>__O
m}jj o o U g
, \ el | 2 s
| @ T 1 Ul
N | ATy !
- T
‘w’/ =1 [ HH 1
=1 ) nNi
| Yo T
#5 Tiefe 5 g2 10,2
g6 24

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



RRBIFEAR (L) FRAF

Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
) “THH o
u—) OS; |7 1 ‘l II‘H “ Jl J
" = —
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z +dz _
3x M3 warking position B
—q— L. 6 = <=}
= |3
T T o HE =
o] 5
L[_) Dg. r 1 ‘\ H‘II ‘F k
" | | o0 m gL (\I“Lo
ST AT M= T el lsls
s | @ LJ‘E 1@‘ =2y il i
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

H35:021-5419 1392 4FT1:173 1638 6953

W%k - www. tifu-auto.com  Hif4f:info@imcortech.cn

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx

B (incl.)
1Ix BEXF
2x T FE R L E IR 4 M5x12

T B(Z) M AT
Bk A 6
BEREEL

Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx

B2 (incl.)
1Ix BEXRF
2x i FE R T & 18 4 M5x12

THENUEZ) M EERTHIE

RK AV
SERERER

CONIELEC

A company of the Siedle-Group



RERBEEA (L) FRAF

Vert-X 37E4
ZRER
THENEEZ)
% MH-C 3.85mm
—+I MH-C redundant 4.35mm
B MH-C2 3.85mm
A
BTN RR K A FED
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
ZRER
THEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm
% MH-C2 4.95mm
+ ¥
~ G M TIIIRA A
A dx +0.25mm
dy +0.25mm
dz +0.5mm
A company of the Siedle-Group

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



RERBIEEA (L) FRAF

Vert-X 37E2

TEES

ITHEEEEZ)

MH-C 6.45mm
MH-C redundant 5.95mm
MH-C2 6.45mm

BMERATYL R R A VI

ST

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 37E
- 50
- ! oL
Te)
s |
Y ,
) ~ |
833,88

35
1,5

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



